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¢ _0{2{7}%] 24=9| i)

+Pa (IAZ) : TAZO| 0SS A BHE CH7|2 SHES]

- 1Pa= 1N/m? - Et| 377} 7] tj20 7|AH0|A{= 1004H

Ci2|21 hPa Al
- 1hPa = 1mb=1/1000 bar=100 N/m* =0.75 mmHg

- 1bar = 1000hPa=100kPa=750mmHg
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P=7h+

o _ 598mm = 0.598m

}/Hg
P, =0.598mxy,,, =0.598mx133kN /m® =79.5kN / m*

= (9.804kN / m*)(40m)+79.5kN / m?
=472kN / m* = 472kPa(abs)
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P,=PF,+y,h,—y.h

« Z7| & |7 7IH0]1HM, P,=P,7} £|11,
Pa=72h,
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P.+y,h —y,h,—y;h, =P

“Py=Ps==y.h +y,h,+y;h,
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S Py—Py=—=y.h +7,1,siIn0+y;h,

et £

. =y,l,sin@—y;h, =P,




H2d w=MN3H=

Pressure
M
’ ' Air

UHE 43, AF37(+7|8 (SG,;=0.9), =2
(SGyy=13.6)= AlEsl= URE A=,
h1=91.4cm, h2=15.2cm, h3=22.9cmg! [}
3 ¢ et=Ae] &= (N/cm?)2?

Open

Oil

= (2)

I:)open = O’

0= I:)air +}/oil(h1 + hz)_}/thS
0=P,, +(SG¥1i20) (N +h,)—(SG Hg}’Hzo)hs

P =—(0.9)(9800N / m3)(91'ig 015 2 )+ (13.6)(9800N / m )(% m)

—21kPa=2.1N/cm? (here, 1Pa=1N/m?)

Hg
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AFEs M2

(a) PA_PB=f(')'1, 72, h1, h2)?

(b) 7 1=9.8kN/m3, 72=15.6kN/m3, h1=1m, . é)
—

h2=0.5m°EI [[I'I PA_PB=?

>0
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Flow nozzle

(a) P, =P, —y,h,—y,h, +y,(h +h,)
S Pya=Ps=hy(y,—7,) mmp nh20j oJsiA{Dt Qa2 BH=C}. h19] E0|= HEt e

(b) P, — P, =(0.5m)(15.6N/m°®—-9.8N /m?®) = 2.9kPa
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